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(ELE,EXC) PHYSICS (PART-I)
L. Choose the correct option:- 3X1=3
1. Assertion an object can have constant speed but variable
velocity.
Reason: velocity changes due to change in direction though
speed is same.
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true but R is not the correct explanation of A.
c. Ais true but R is false.
d. A is false but R is true.
2. Assertion A body cannot move on a circular path without any
acceleration.
Reason: in uniform circular motion, the velocity of the body
remains constant.
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true but R is not the correct explanation of A.
c. Ais true but R is false.
d. A is false but R is true.
3. Assertion: Greater is the mass of a body, greater is its inertia.
Reason: Mass of a body is a measure of inertia.
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true but R is not the correct explanation of A.
c. Ais true but R is false.
d. A is false but R is true.
II. FILL IN THE BLANKS: 7X1=7
1. Newton’s law explains the concept of inertia.
2. Momentum of an object is mathematically represented as
3. Force is define as
4. When a body is moving with uniform velocity, its acceleration
will be
S. Acceleration is a quantity and is directed along the
direction of change in
6. The speedometer of a car measures its speed.
7. Area below u-t graph is a measure of
I11. Answer in one words: 7X1=7

1. Can uniform linear motion be accelerated?

V.
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Does the speedometer of a car measure its average speed?
When is the acceleration taken as negative?
Why do bicycles begin to slow down when we stop pedaling?
Can every force produce motion in every object?
When a body moves on flat surface, will its speed change?
Do action and reaction act on the same body?

ANSWER IN BRIEF: 6X3=18

Give few examples of newtons third law of motion?

2. Why does the cricket player moves his hand backward while

catching the ball ?

. What is the acceleration produced by a force of 12 newton

exerted on an object of mass 3 kg?

. A bullet of mass 0.02 kg is fired from a gun weighing 7.5 kg. if

the initial velocity of the bullet is 200 m/s calculate the speed
with which the gun recoils.

. A motor boat strating from rest on a lake accelerates in a

straight line at a constant rate of 3.0ms-2 for 8 seconds. How
far does the boat travel during this time?

. A bus decreases its speed from 80 kmh-1 to 60 kmh-1 in 5s.

find the acceleration of the bus.

Answer in detail. 3x5=15

1. Two objects of masses 100 g and 200 g are moving along
the same line and direction with velocity of 2m/s and 1 m/s
respectively they collide and after the collision the first
object moves at a velocity of the second object.

2. A truck starts from rest and rolls down a hill with a
constant acceleration it travels a distance of 400 m in 20s
find its acceleration. Find the force action on it if its mass is
7 tones

3. A 8000 KG engine pulls a train of 5 wagons each of 2000 Kg
along a horizontal track if the engine exerts a force of 40000
and the track offers a friction force of 5000 N the calculate.

a. The net accelerating force.
b. The acceleration of the train.
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I. Answer in one word or sentence: 8x'2=4

. Who were jadidists?

. The northern plains are formed of ____ soil

. What is the main activity in palampur?

. Who led the Bolshevik party?

. Another name for Great or Inner Himalayas is __.

. Name the factors of production?

. What does the term kolkhoz mean?

. Name the largest riverine Island in the world.

. Amswer in about 80 words: (any 7) 7x3=21

. What is cooperative? Write about the cooperatives that were built on a
wide scale?

. Write about the regional divisions of the Himalayas.

. What is multiple cropping? What is the reason why it is carried out in
palampur?

. What do you know about the Russian empire in the year 1914?

. Give a short description about the Indian Desert.

. What has been the impact of the Green Revolution on the farming
activity in Palampur?

7. Write about the incident known as “Biology Sunday”.

8. Give an account about liberals and conservations.

III. Answer in about 120 words: 4x5=20

1. Write about the February Revolution in Petrograd.

2. Name the six physiographic divisions of India and explain any three.

3. Write about the non-economic activities in Palampur.

4. Why did the civil war take place in Russia? What was the outcome of

the War?
S. How have the varied physical features of India helped in the
development of India?
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IV. Map: 5X1=5
a) The Himalayan Mountains b)the Northern Plains
c) The Peninsular Plateau d) The Indian Desert

e) The Coastal plains.



